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The moment of inertia of this rigid body is about an axis
perpendicular to the rod and through the center of mass (Xc).

Thus, the moment of inertia is

: Xc. z :

1.2m. 0.8 m.

0.2X0+0.3x2

Xe =
0.2+0.3

=1.2 (m)

I= Z mr# = (0.2) x 1.22 + (0.3) X 0.82 = 0.288 + 0.192 = 0.48.
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Fluorescence resonance energy transfer — 4k 30§ 22 § & 5
N AZ o # 27353 0 fluorescence resonance energy transfer ¥
Bk hpE Y R RAEOL o ¥ kenpEF % B ¥_nanosecond (107s)
F > d P ¥ (B fluorescence resonance energy transfer £
R RELX 9L 10%sm 2210250 &
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